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A particle moves along the x-axis from " PR

time t = 0 to time / = ts initial
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Answer the following questions:

1) When is the particle moving to the...
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2) What is the particle’s displacement and total distance from...
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3) What is the particle’s position at time...
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For the following problems, the function v(t) 1s the velocity in cm/sec of a particle moving
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For the following problems, the function v(t) is the velocity in cm/sec of a particle moving
along the x-axis. Find the following:

a) When the particle is stopped, moving left, and moving right.

b) The displacement for the given time interval.

c¢) The particle’s final position 1f s(0) = 5.

d) The total distance the particle traveled.
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